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What is the result of ABC x 5, where A, B, and C stand for different digits: A 

stands for 6, B stands for 0, and C stands for 7? 

 

Answer: __________ 
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In the expression AB × 7 = 147 letters A and B stand for two different digits. Find 

the answer to BA × 7, where these digits have been switched. 

 

Answer: __________ 
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What would be the largest result if letters are replaced with digits in the sum of 

these three-digit numbers:  

A5B + BC3 

(Different letters are replaced with different digits) 

 

Answer: __________ 

 


